Et'/%(&mfﬁ
emorational wooden furniture

50012 OAK TORSION DINING TABLE
ASSEMBLY INSTRUCTION FOR TABLE INSTALLATION

HARDWARES
E B
e
N &
LA
JCBC SCREW JCBC SCREW METAL PLATE METAL PLATE
M8x80 M8x16 (SMALL) (LARGE)
(3X) (9%) (1x) (1X)

TOOL

7

L KEY
(included in package)

IN YOUR PACKAGE :

ASSEMBLY INSTRUCTION
HARDWARES (AS LISTED ABOVE)

PARTS TO BE INSTALLED
1. TABLE TOP 1 pc

2. CENTER LEG 1 pc

3. LEG BASE 1pc

SYMBOLS

o)

DIRECTION NUMBER OF USE L KEY
PERSONS NEEDED TO TIGHTEN

NOTICE

ek




et o=

emorational wooden furmiture

50012 OAK TORSION DINING TABLE
ASSEMBLY INSTRUCTION FOR TABLE INSTALLATION

Y INSTALLING MET

————————

9 TIGHTEN FULLY

N e i

- MAKE SURE THIS SIDE UP
- USE THE SCREW M8x16

3] INSTALLING CENTER

= | ~
\\
7 N
7 % A
7 el e e R c RN \
VY, LG s 2 s v e S e S
V4 ! K‘&y ] ]
[/ ! ] > | 1
{1 ! 03 > I I
/ I /\ I I
L T A T S W =
T A0 ¢ vl
\ I i I €
N e e e |
|
|
4
N | f
e LR
A U
| W \ /
| X [
l A S
| . b
- [ T
e
: .
|

- ALWAYS REFER THE STICKER
- USE THE SCREW M8x16



Et'/tmz;mff®
emorational wooden furniture

50012 OAK TORSION DINING TABLE
ASSEMBLY INSTRUCTION FOR TABLE INSTALLATION

3/3

(of INSTALLING LEG BASE

Make sure the holes of leg base
and center ]Ie‘g linline
H

Make'sure the holesof
metal plate‘apcll center leg inline

€ ricHmen FRMLY







